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Instruction: First 15 minutes are allotted
for the candidates to read the
question paper.
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All questions are compulsory.
Marks allotted to each question
are given in the margin.

In numerical questions, give all

the steps of calculation.

Give relevant answers to the

questions. . upboardonline.com

Give chemical equations

wherever necessary.
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) Li
i1) Na
m) K
iv) Cs 1

1. Four alternatives are given in each part

“of this question. Select the correct

alternative and write it in your answer-

book :

a)

217430

In which of the- following does

nitrogen have oxidation number in

fraction ?

i)  NH,OH

i) N.H,

i) NH,

iv) NgH. 1
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In which of the following ions are

unpairea electrons not present ?

i) Ccr¥*

i) Fe?t

iii) Cu”*

iv) Ni?*. | 1
The ratio in terms of weight of

oxygen and hydrogen formed during

electrolysis of water is

) 2:1

1) 8:1

i) 16:1

w) 1:4 1
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Which among the following has the
largest O-N-O bond angle ?

iy NO,
ij) NOj
iii) NOj
ivj] NOj: 1

Among the following the strongest

reducing agent is

i) L

1) Na

i) K

v} Cs. | i
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The temperature of a gas 1s 340K. At
which temperature will the volume

and pressure of the gas be halved ?1
Write a brief note on mole concept. 1

Explain why the first ionisation
potential of nitrogen is greater than

first ionisation potential of oxygen. 1

Explain n { pi) bond with the help of

an example. 1
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Write the values of four quantum
numbers for last electron in Ti
(Atomic number = 22 ). 1
Arrange the following isoelectronic
ions in decreasing order of their
lonic sizes :

N>~,0%7,Mg?*,F~,Na* 1
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Write two applications of

electrochemical series. 1
Explain carbon monoxide poisoning.
1
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Explain the structure of

- hydrogen peroxide. Calculate  the

bj
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concentration of 20  volume
hydrogen peroxide in g /IL. 2
Write names and formulae of two
main ores of copper. Describe
method of extraction of copper from
copper pyrite. | 2
Discuss the position of alkali metals
in the periodic table on the basis of

electronic configuration. 2
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What are interhalogen compounds ?

Explain with examples. Discuss

the géometry of AB, type of

interhalogen compounds of chlorine

and fluorine. 2
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Explain Werner's . theory. - If
[ Co(NH,)sC1 ] Cl, is hydrolysed, how
many ions will be produced ? 2
Explain the following :

i)  Pauli's exclusion principle. 1
ii)j Resonance.

Describe lanthanide contraction and
its effects. ' 2

Describe the following :

i)  Nernst equation | 1
ii)  Acid rain. 1
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Give the reason of inertness of noble
gasés. 1
Why is silver nitrate solution kept in
coloured bottles ? ' 1
Explain the effect of temperature
and pressure on the viscosity of
liquid. 1
OR
What do you understand by_ideai
gas ? Write ideal gas equation for
one mole of any gas. : 1

The equivalent weights of KMnO 4 In

acidic and basic mediums are
different. Why ? 1

Explain why H,O is liquid and H,S

1s gas at ordinary temperature. 1
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7. Describe with diagram any one method
for the manufacture of iodine or
bromine. " Write a chemical reaction

depicting oxidising property of the gas. 3
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